

A Study on (Q,L) -fuzzy Normal ℓ -subsemiring of a ℓ -semiring Under Homomorphism and Anti-homomorphism

Rock Arokiaraj¹, Vellaiyan Saravanan^{2,*}, Jonadoss Jon Arockiaraj³

¹Department of Mathematics, Rajiv Gandhi College of Engineering & Technology, Pondicherry, India

²Department of Mathematics, Annamalai University, Annamalai Nagar, India

³Department of Mathematics, St. Joseph's College of Arts & Science, Cuddalore, India

Email address:

arokiamaths89@yahoo.com (R. Arokiaraj), saravanan_aumaths@yahoo.com (V. Saravanan), jonarockiaraj@gmail.com (J. J. Arockiaraj)

*Corresponding author

To cite this article:

Rock Arokiaraj, Vellaiyan Saravanan, Jonadoss Jon Arockiaraj. A Study on (Q,L) -fuzzy Normal ℓ -subsemiring of a ℓ -semiring Under Homomorphism and Anti-homomorphism. *American Journal of Mathematical and Computer Modelling*. Vol. 6, No. 3, 2021, pp. 50-54. doi: 10.11648/j.ajmcm.20210603.12

Received: August 3, 2021; **Accepted:** August 23, 2021; **Published:** September 4, 2021

Abstract: Our motivation in this paper is to start and study the algebraic nature of (Q,L) -fuzzy normal ℓ -subsemirings of a ℓ -semiring. Our purpose of this paper is to initiate and study the notions of (Q,L) - fuzzy normal ℓ -subsemirings of ℓ -semiring. We introduce the concept of (Q,L) -fuzzy normal ℓ -subsemirings of a ℓ -semiring. We study few of their elementary properties by (Q,L) -fuzzy normal ℓ -subsemirings of a ℓ -semiring and establish some results on these. These ideas are utilized in the improvement of some significant outcomes. We additionally made an endeavor to study the few properties of (Q,L) -fuzzy normal ℓ -subsemirings of ℓ -semiring under homomorphism and anti-homomorphism. Also some theorem is the composition operation of functions (Q,L) -fuzzy normal ℓ -subsemirings of ℓ -semiring under isomorphism and anti-isomorphism. Also prove some more properties of homomorphism and anti-homomorphism image and pre- image of (Q,L) -fuzzy normal ℓ -subsemirings of ℓ -semiring. Finally, we present the theorems of (Q,L) -fuzzy normal ℓ -subsemirings of ℓ -semiring under image and pre- image of isomorphism and anti- isomorphism.

Keywords: (Q,L) -fuzzy Subset, (Q,L) -fuzzy ℓ -subsemiring, (Q,L) -fuzzy Normal ℓ -subsemiring, Product of (Q,L) -fuzzy Subsets, Strongest (Q,L) -fuzzy Relation, Pseudo (Q,L) -fuzzy Coset

1. Introduction

The idea of Lattice was first characterized by Dedekind in 1897 and then developed by Birkhoff. G, imposed an operation an open problem "Is there a common abstraction which includes Boolean algebra, Boolean rings and lattice ordered group or L-bunch is a mathematical design associating lattice also, bunch. The notion of fuzzy sets was first introduced by L. A. Zadeh [18], several researchers explored on the generalization of the concept of fuzzy sets. The notion of fuzzy subnearings and ideals was introduced by S. Abou Zaid [12]. Biswas. R [5], have introduced fuzzy subgroups and anti-fuzzy subgroups. Palaniappan, N. and Muthuraj, R. [9] have introduced the notion of homomorphism, anti-homomorphism of fuzzy and anti-fuzzy groups. Palaniappan. N & Arjunan. K, Operation on fuzzy and anti fuzzy ideals was introduced by Palaniappan, N. and

Arjunan. K [8]. A new algebraic structure called Q-fuzzy subgroups was introduced by A. Solairaju and R. Nagarajan [4]. Saravanan. V and Sivakumar. D [14, 15] have introduced and defined a new algebraic structure of anti-fuzzy and anti-fuzzy normal subsemiring of a semiring. In this paper, we make some characterization of (Q,L) -fuzzy normal set and then proved some results on (Q,L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring.

2. Preliminaries

Definition 2.1 Let X be a non-empty set and $L = (L, \leq)$ be a lattice with least element 0 and greatest element 1 and Q be a non-empty set. A (Q,L) -fuzzy subset A_μ of X is a function $A_\mu : X \times Q \rightarrow L$.

Definition 2.2 Let R be a ℓ -semiring and Q be a non empty set. A (Q,L) -fuzzy subset A of R is said to be a (Q,L) -fuzzy

ℓ -subsemiring ($QLFLSSR$) of R if the following conditions are satisfied:

- (i) $A(x + y, q) \geq A(x, q) \wedge A(y, q)$,
- (ii) $A(xy, q) \geq A(x, q) \wedge A(y, q)$,
- (iii) $A(x \vee y, q) \geq A(x, q) \wedge A(y, q)$,
- (iv) $A(x \wedge y, q) \geq A(x, q) \wedge A(y, q)$, for all x and y in R and q in Q .

Definition 2.3 Let R be a ℓ -semiring and Q be a non-empty set. An (Q, L) -fuzzy ℓ -subsemiring A of R is said to be an (Q, L) -fuzzy normal ℓ -subsemiring ($QLFNLSSR$) of R if it satisfies the following conditions:

- (i) $A(x + y, q) = A(y + x, q)$,
- (ii) $A(xy, q) = A(yx, q)$,
- (iii) $A(x \vee y, q) = A(y \vee x, q)$,
- (iv) $A(x \wedge y, q) = A(y \wedge x, q)$, for all x and y in R and q in Q .

Definition 2.4 Let A and B be any two (Q, L) -fuzzy subsets of sets G and H , respectively. The product of A and B , denoted by $A \times B$, is defined as $A \times B = \{ \langle (x, y), q \rangle, A \times B((x, y), q) > / \text{ for all } x \text{ in } R \text{ and } y \text{ in } H \text{ and } q \text{ in } Q \}$, where $A \times B((x, y), q) = A(x, q) \wedge B(y, q)$.

Definition 2.5 Let R and R' be any two ℓ -semirings Q be a non empty set. Let $f: R \rightarrow R'$ be any function and A be a (Q, L) -fuzzy ℓ -subsemiring in R , V be a (Q, L) -fuzzy ℓ -subsemiring in $f(R) = R'$, defined by $V(y, q) = \sup_{x \in f^{-1}(y)} A(x, y)$, for all x in R and y in R' and q in Q . Then A

is called a pre-image of V under f and is denoted by $f^{-1}(V)$.

Definition 2.6 Let A be a (Q, L) -fuzzy subset in a set S , the strongest (Q, L) -fuzzy relation on S , that is a (Q, L) -fuzzy relation V with respect to A given by $V((x, y), q) = A(x, q) \wedge A(y, q)$, for all x and y in S and q in Q .

Definition 2.7 A (Q, L) -fuzzy subset A of a set X is said to be normalized if there exists an element x in X such that $A(x, q) = 1$.

Definition 2.8 Let A be an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R and a in R . Then the pseudo (Q, L) -fuzzy coset $(aA)^p$ is defined by $((aA)^p)(x, q) = p(a)A(x, q)$, for every x in R and for some p in P and q in Q .

Definition 2.9 Let A be a (Q, L) -fuzzy subset of X . For α in L , a Q -level subset of A is the set $A_\alpha = \{ x \in X : A(x, q) \geq \alpha \}$.

3. Properties of (Q, L) -fuzzy Normal ℓ -subsemiring of a ℓ -semiring

Theorem 3.1 Let R be a ℓ -semiring Q be a non-empty set. If A and B are two (Q, L) -fuzzy normal ℓ -subsemirings of R , then their intersection $A \cap B$ is an (Q, L) -fuzzy normal ℓ -subsemiring of R .

Proof: Let x and $y \in R$. Let $A = \{ \langle (x, q), A(x, q) \rangle / x \text{ in } R \text{ and } q \text{ in } Q \}$ and $B = \{ \langle (x, q), B(x, q) \rangle / x \text{ in } R \text{ and } q \text{ in } Q \}$ be (Q, L) -fuzzy normal ℓ -subsemirings of a ℓ -semiring R . Let $C = A \cap B$ and $C = \{ \langle (x, q), C(x, q) \rangle / x \text{ in } R \text{ and } q \text{ in } Q \}$. Then, Clearly C is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R , since A and B are two (Q, L) -fuzzy ℓ -

subsemirings of a ℓ -semiring R and, (i) $C(x + y, q) = A(x + y, q) \wedge B(x + y, q) = A(y + x, q) \wedge B(y + x, q) = C(y + x, q)$, for all x and y in R and q in Q . Therefore, $C(x + y, q) = (y + x, q)$, for all x and y in R and q in Q . (ii) $C(xy, q) = A(xy, q) \wedge B(xy, q) = A(yx, q) \wedge B(yx, q) = C(yx, q)$, for all x and y in R and q in Q . Therefore, $C(xy, q) = C(yx, q)$, for all x and y in R and q in Q . Also, (iii) $C(x \vee y, q) = A(x \vee y, q) \wedge B(x \vee y, q) = A(y \vee x, q) \wedge B(y \vee x, q) = C(y \vee x, q)$, for all x and y in R and q in Q . Therefore, $C(x \vee y, q) = (y \vee x, q)$, for all x and y in R and q in Q . (iv) $C(x \wedge y, q) = A(x \wedge y, q) \wedge B(x \wedge y, q) = A(y \wedge x, q) \wedge B(y \wedge x, q) = C(y \wedge x, q)$, for all x and y in R and q in Q . Therefore, $C(x \wedge y, q) = (y \wedge x, q)$, for all x and y in R and q in Q . Hence $A \cap B$ is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R .

Theorem 3.2 Let R be a ℓ -semiring Q be a non-empty set. The intersection of a family of (Q, L) -fuzzy normal ℓ -subsemirings of R is an (Q, L) -fuzzy normal ℓ -subsemiring of R .

Proof: Let $\{A_i\}_{i \in I}$ be a family of (Q, L) -fuzzy normal ℓ -subsemirings of a ℓ -semiring R and let

$$A = \bigcap_{i \in I} A_i.$$

Then for x and y in R and q in Q . Clearly the intersection of a family of (Q, L) -fuzzy ℓ -subsemirings of a ℓ -semiring R is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R . (i)

$A(x + y, q) = \inf_{x \in f^{-1}(y)} A_i(x + y, q) = \inf_{x \in f^{-1}(y)} A_i(y + x, q) = A(y + x, q)$. Therefore, $A(x + y, q) = A(y + x, q)$, for all x and y in R and q in Q . (ii)

$A(xy, q) = \inf_{x \in f^{-1}(y)} A_i(xy, q) = \inf_{x \in f^{-1}(y)} A_i(yx, q) = A(yx, q)$. Therefore, $A(xy, q) = A(yx, q)$, for all x and y in R and q in Q . (iii) $A(x \vee y, q) = \inf_{x \in f^{-1}(y)} A_i(x \vee y, q) =$

$\inf_{x \in f^{-1}(y)} A_i(y \vee x, q) = A(y \vee x, q)$. Therefore, $A(x \vee y, q) = A(y \vee x, q)$, for all x and y in R and q in Q . (iv)

$A(x \wedge y, q) = \inf_{x \in f^{-1}(y)} A_i(x \wedge y, q) = \inf_{x \in f^{-1}(y)} A_i(y \wedge x, q) =$

$A(y \wedge x, q)$. Therefore, $A(x \wedge y, q) = A(y \wedge x, q)$, for all x and y in R and q in Q . Hence the intersection of a family of (Q, L) -fuzzy normal ℓ -subsemirings of a ℓ -semiring R is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R .

Theorem 3.3 Let A and B be (Q, L) -fuzzy ℓ -subsemiring of the ℓ -semirings G and H , respectively. If A and B are (Q, L) -fuzzy normal ℓ -subsemirings. Then $A \times B$ is an (Q, L) -fuzzy normal ℓ -subsemiring of $G \times H$.

Proof: Let A and B be (Q, L) -fuzzy normal ℓ -subsemirings of the ℓ -semirings G and H respectively. Clearly $A \times B$ is an (Q, L) -fuzzy ℓ -subsemiring of $G \times H$. Let x_1 and x_2 be in G , y_1 and y_2 be in H , q in Q . Then (x_1, y_1) and (x_2, y_2) are in $G \times H$. Now, $A \times B[(x_1, y_1) + (x_2, y_2), q] = A \times B((x_1 + x_2, y_1 + y_2), q) = A(x_1 + x_2, q) \wedge B(y_1 + y_2, q) = A(x_2 + x_1, q) \wedge B(y_2 + y_1, q) = A \times B((x_2 + x_1, y_2 +$

$y_1), q) = A \times B[(x_2, y_2) + (x_1, y_1), q]$. Therefore, $A \times B[(x_1, y_1) + (x_2, y_2), q] = A \times B[(x_2, y_2) + (x_1, y_1), q]$. And, $A \times B[(x_1, y_1)(x_2, y_2), q] = A \times B((x_1x_2, y_1y_2), q) = A(x_1x_2, q) \wedge B(y_1y_2, q) = A(x_2x_1, q), B(y_2y_1, q) = A \times B[(x_2, y_2)(x_1, y_1), q]$. Therefore, $A \times B[(x_1, y_1)(x_2, y_2), q] = A \times B[(x_2, y_2)(x_1, y_1), q]$. Also, $A \times B[(x_1, y_1) \vee (x_2, y_2), q] = A \times B((x_1 \vee x_2, y_1 \vee y_2), q) = A(x_1 \vee x_2, q) \vee B(y_1 \vee y_2, q) = A(x_2 \vee x_1, q) \wedge B(y_2 \vee y_1, q) = A \times B((x_2 \vee x_1, y_2 \vee y_1), q) = A \times B[(x_2, y_2) \vee (x_1, y_1), q]$. Therefore, $A \times B[(x_1, y_1) \vee (x_2, y_2), q] = A \times B[(x_2, y_2) \vee (x_1, y_1), q]$. And, $A \times B[(x_1, y_1) \wedge (x_2, y_2), q] = A \times B((x_1 \wedge x_2, y_1 \wedge y_2), q) = A(x_1 \wedge x_2, q) \wedge B(y_1 \wedge y_2, q) = A(x_2 \wedge x_1, q) \wedge B(y_2 \wedge y_1, q) = A \times B((x_2 \wedge x_1, y_2 \wedge y_1), q) = A \times B[(x_2, y_2) \wedge (x_1, y_1), q]$. Therefore, $A \times B[(x_1, y_1) \wedge (x_2, y_2), q] = A \times B[(x_2, y_2) \wedge (x_1, y_1), q]$. Hence $A \times B$ is an (Q, L) -fuzzy normal ℓ -subsemiring of $G \times H$.

Theorem 3.4 Let A be a fuzzy subset in a ℓ -semiring R and V be the strongest (Q, L) -fuzzy relation on R . Then A is an (Q, L) -fuzzy normal ℓ -subsemiring of R if and only if V is an (Q, L) -fuzzy normal ℓ -subsemiring of $R \times R$.

Proof: Suppose that A is a (Q, L) -fuzzy normal ℓ -subsemiring of R . Then for any $x = (x_1, x_2)$ and $y = (y_1, y_2)$ are in $R \times R$ and q in Q . Clearly V is a (Q, L) -fuzzy ℓ -subsemiring of $R \times R$. We have, $V(x + y, q) = V[(x_1, x_2) + (y_1, y_2), q] = V((x_1 + y_1, x_2 + y_2), q) = A((x_1 + y_1), q) \wedge A((x_2 + y_2), q) = A((y_1 + x_1), q) \wedge A((y_2 + x_2), q) = V((y_1 + x_1, y_2 + x_2), q) = V[(y_1, y_2) + (x_1, x_2), q] = V(y + x, q)$. Therefore, $V(x + y, q) = V(y + x, q)$, for all x and y in $R \times R$ and q in Q . We have, $V(xy, q) = V[(x_1, x_2)(y_1, y_2), q] = V((x_1y_1, x_2y_2), q) = A((x_1y_1), q) \wedge A((x_2y_2), q) = A((y_1x_1), q) \wedge A((y_2x_2), q) = V((y_1x_1, y_2x_2), q) = V[(y_1, y_2)(x_1, x_2), q] = V(yx, q)$. Therefore, $V(xy, q) = V(yx, q)$, for all x and y in $R \times R$ and q in Q . Also, $V(x \vee y, q) = V[(x_1, x_2) \vee (y_1, y_2), q] = V((x_1 \vee y_1, x_2 \vee y_2), q) = A((x_1 \vee y_1), q) \wedge A((x_2 \vee y_2), q) = A((y_1 \vee x_1), q) \wedge A((y_2 \vee x_2), q) = V((y_1 \vee x_1, y_2 \vee x_2), q) = V[(y_1, y_2) \vee (x_1, x_2), q] = V(y \vee x, q)$. Therefore, $V(x \vee y, q) = V(y \vee x, q)$, for all x and y in $R \times R$ and q in Q . And, $V(x \wedge y, q) = V[(x_1, x_2) \wedge (y_1, y_2), q] = V((x_1 \wedge y_1, x_2 \wedge y_2), q) = A((x_1 \wedge y_1), q) \wedge A((x_2 \wedge y_2), q) = A((y_1 \wedge x_1), q) \wedge A((y_2 \wedge x_2), q) = V((y_1 \wedge x_1, y_2 \wedge x_2), q) = V[(y_1, y_2) \wedge (x_1, x_2), q] = V(y \wedge x, q)$. Therefore, $V(x \wedge y, q) = V(y \wedge x, q)$, for all x and y in $R \times R$ and q in Q . This proves that V is a (Q, L) -fuzzy normal ℓ -subsemiring of $R \times R$. Conversely, assume that V is a (Q, L) -fuzzy normal ℓ -subsemiring of $R \times R$, then for any $x = (x_1, x_2)$ and $y = (y_1, y_2)$ are in $R \times R$, we have $A(x_1 + y_1, q) \wedge A(x_2 + y_2, q) = V((x_1 + y_1, x_2 + y_2), q) = V[(x_1, x_2) + (y_1, y_2), q] = V(x + y, q) = V(y + x, q) = V[(y_1, y_2) + (x_1, x_2), q] = V((y_1 + x_1, y_2 + x_2), q) = A(y_1 + x_1, q) \wedge A(y_2 + x_2, q)$. We get, $A((x_1 + y_1), q) = A((y_1 + x_1), q)$, for all x_1 and y_1 in R and q in Q . And $A(x_1y_1, q) \wedge A(x_2y_2, q) = V((x_1y_1, x_2y_2), q) = V[(x_1, x_2)(y_1, y_2), q] = V(xy, q) = V(yx, q) = V[(y_1, y_2)(x_1, x_2), q] = V((y_1x_1, y_2x_2), q) = A(y_1x_1, q) \wedge A(y_2x_2, q)$. We get, $A((x_1y_1), q) = A((y_1x_1), q)$, for all x_1 and y_1 in R and q in Q . Also, $A(x_1 \vee y_1, q) \wedge A(x_2 \vee y_2, q) = V((x_1 \vee y_1, x_2 \vee y_2), q) = V[(x_1, x_2) \vee (y_1, y_2), q] = V(x \vee y, q) = V(y \vee x, q) = V[(y_1, y_2) \vee (x_1, x_2), q] = V((y_1 \vee x_1, y_2 \vee x_2), q) = A(y_1 \vee x_1, q) \wedge A(y_2 \vee x_2, q)$. We get, $A((x_1 \vee y_1), q) = A((y_1 \vee x_1), q)$, for all x_1 and y_1 in R and q in Q . And $A(x_1 \wedge y_1, q) \wedge A(x_2 \wedge y_2, q) = V((x_1 \wedge y_1, x_2 \wedge y_2), q) = V[(x_1, x_2) \wedge (y_1, y_2), q] = V(x \wedge y, q) = V(y \wedge x, q) = V[(y_1, y_2) \wedge (x_1, x_2), q] = V((y_1 \wedge x_1, y_2 \wedge x_2), q) = A(y_1 \wedge x_1, q) \wedge A(y_2 \wedge x_2, q)$. We get, $A((x_1 \wedge y_1), q) = A((y_1 \wedge x_1), q)$, for all x_1 and y_1 in R and q in Q . Hence A is a (Q, L) -fuzzy normal ℓ -subsemiring of R .

$y_2, q) = V((x_1 \vee y_1, x_2 \vee y_2), q) = V[(x_1, x_2) \vee (y_1, y_2), q] = V(x \vee y, q) = V(y \vee x, q) = V[(y_1, y_2) \vee (x_1, x_2), q] = V((y_1 \vee x_1, y_2 \vee x_2), q) = A(y_1 \vee x_1, q) \wedge A(y_2 \vee x_2, q)$. We get, $A((x_1 \vee y_1), q) = A((y_1 \vee x_1), q)$, for all x_1 and y_1 in R and q in Q . And, $A(x_1 \wedge y_1, q) \wedge A(x_2 \wedge y_2, q) = V((x_1 \wedge y_1, x_2 \wedge y_2), q) = V[(x_1, x_2) \wedge (y_1, y_2), q] = V(x \wedge y, q) = V(y \wedge x, q) = V[(y_1, y_2) \wedge (x_1, x_2), q] = V((y_1 \wedge x_1, y_2 \wedge x_2), q) = A(y_1 \wedge x_1, q) \wedge A(y_2 \wedge x_2, q)$. We get, $A((x_1 \wedge y_1), q) = A((y_1 \wedge x_1), q)$, for all x_1 and y_1 in R and q in Q . Hence A is a (Q, L) -fuzzy normal ℓ -subsemiring of R .

Theorem 3.5 Let R and R' be any two ℓ -semirings and Q be a non-empty set. The homomorphic image of an (Q, L) -fuzzy normal ℓ -subsemiring of R is an (Q, L) -fuzzy normal ℓ -subsemiring of R' .

Proof: Let R and R' be any two ℓ -semirings Q be a non-empty set and $f: R \rightarrow R'$ be a homomorphism. Then, $f(x + y) = f(x) + f(y)$ and $f(xy) = f(x)f(y)$, for all x and y in R . Let $V = f(A)$, where A is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R . We have to prove that V is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R' . Now, for $f(x), f(y)$ in R' , clearly V is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R' , since A is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R . Now, $V(f(x) + f(y), q) = V(f(x + y), q) \geq A(x + y, q) = A(y + x, q) \leq V(f(y + x), q) = V(f(y) + f(x), q)$. Therefore, $V(f(x) + f(y), q) = V(f(y) + f(x), q)$, for all $f(x)$ and $f(y)$ in R' . Again, $V(f(x)f(y), q) = V(f(xy), q) \geq A(xy, q) = A(yx, q) \leq V(f(yx), q) = V(f(y)f(x), q)$. Therefore, $V(f(x)f(y), q) = V(f(y)f(x), q)$, for all $f(x)$ and $f(y)$ in R' . Also, $V(f(x) \vee f(y), q) = V(f(x \vee y), q) \geq A(x \vee y, q) = A(y \vee x, q) \leq V(f(y \vee x), q) = V(f(y) \vee f(x), q)$. Therefore, $V(f(x) \vee f(y), q) = V(f(y) \vee f(x), q)$, for all $f(x)$ and $f(y)$ in R' . And, $V(f(x) \wedge f(y), q) = V(f(x \wedge y), q) \geq A(x \wedge y, q) = A(y \wedge x, q) \leq V(f(y \wedge x), q) = V(f(y) \wedge f(x), q)$. Therefore, $V(f(x) \wedge f(y), q) = V(f(y) \wedge f(x), q)$, for all $f(x)$ and $f(y)$ in R' . Hence V is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R' .

Theorem 3.6 Let R and R' be any two ℓ -semirings and Q be a non-empty set. The homomorphic preimage of an (Q, L) -fuzzy normal ℓ -subsemiring of R' is an (Q, L) -fuzzy normal ℓ -subsemiring of R .

Proof: Let R and R' be any two ℓ -semirings Q be a non-empty set and $f: R \rightarrow R'$ be a homomorphism. Then, $f(x + y) = f(x) + f(y)$ and $f(xy) = f(x)f(y)$, for all x and y in R . Let $V = f(A)$, where V is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R' . We have to prove that A is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R . Let x and y in R . Then, clearly A is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R , since V is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R' . Now, $A(x + y, q) = V(f(x + y), q) = V(f(x) + f(y), q) = V(f(y) + f(x), q) = V(f(y \vee x), q) = A(y \vee x, q)$. Therefore, $A(x + y, q) = A(y + x, q)$, for all x and y in R and q in Q . Again, $A(xy, q) = V(f(xy), q) = V(f(x)f(y), q) = V(f(y)f(x), q) = V(f(yx), q) = A(yx, q)$. Therefore, $A(xy, q) = A(yx, q)$, for all x and y in R and q in Q .

Q . Also, $A(x \vee y, q) = V(f(x \vee y), q) = V(f(x) \vee f(y), q) = V(f(y) \vee f(x), q) = V(f(y \vee x), q) = A(y \vee x, q)$. Therefore, $A(x \vee y, q) = A(y \vee x, q)$, for all x and y in R and q in Q . And, $A(x \wedge y, q) = V(f(x \wedge y), q) = V(f(x) \wedge f(y), q) = V(f(y) \wedge f(x), q) = V(f(y \wedge x), q) = A(y \wedge x, q)$. Therefore, $A(x \wedge y, q) = A(y \wedge x, q)$, for all x and y in R and q in Q . Hence A is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R .

Theorem 3.7 Let R and R' be any two ℓ -semirings and Q be a non-empty set. The anti-homomorphic image of an (Q, L) -fuzzy normal ℓ -subsemiring of R is an (Q, L) -fuzzy normal ℓ -subsemiring of R' .

Proof: Let R and R' be any two ℓ -semirings and Q be a non-empty set and $f: R \rightarrow R'$ be an anti-homomorphism. Then, $f(x + y) = f(y) + f(x)$ and $f(xy) = f(y)f(x)$, for all x and y in R . Let $V = f(A)$, where A is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R . We have to prove that V is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R' . Now, for $f(x)$ and $f(y)$ in R' , clearly V is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R' , since A is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R . Now, $V(f(x) + f(y), q) = V(f(y + x), q) \geq A(y + x, q) = A(x + y, q) \leq V(f(x + y), q) = V(f(y) + f(x), q)$. Therefore, $V(f(x) + f(y), q) = V(f(y) + f(x), q)$, for all $f(x)$ and $f(y)$ in R' . Again, $V(f(x)f(y), q) = V(f(yx), q) \geq A(yx, q) = A(xy, q) \leq V(f(xy), q) = V(f(y)f(x), q)$. Therefore, $(f(x)f(y), q) = V(f(y)f(x), q)$, for all $f(x)$ and $f(y)$ in R' . Also, $V(f(x) \vee f(y), q) = V(f(y \vee x), q) \geq A(y \vee x, q) = A(x \vee y, q) \leq V(f(x \vee y), q) = V(f(y) \vee f(x), q)$. Therefore, $V(f(x) \vee f(y), q) = V(f(y) \vee f(x), q)$, for all $f(x)$ and $f(y)$ in R' . And, $V(f(x) \wedge f(y), q) = V(f(y \wedge x), q) \geq A(y \wedge x, q) = A(x \wedge y, q) \leq V(f(x \wedge y), q) = V(f(y) \wedge f(x), q)$. Therefore, $V(f(x) \wedge f(y), q) = V(f(y) \wedge f(x), q)$, for all $f(x)$ and $f(y)$ in R' . Hence V is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R' .

Theorem 3.8 Let R and R' be any two ℓ -semirings and Q be a non-empty set. The anti-homomorphic preimage of an (Q, L) -fuzzy normal ℓ -subsemiring of R' is an (Q, L) -fuzzy normal ℓ -subsemiring of R .

Proof: Let R and R' be any two ℓ -semirings and Q be a non-empty set and $f: R \rightarrow R'$ be an anti-homomorphism. Then, $f(x + y) = f(y) + f(x)$ and $f(xy) = f(y)f(x)$, for all x and y in R . Let $V = f(A)$, where V is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R' . We have to prove that A is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R . Let x and y in R , then clearly A is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R , since V is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R' . Now, $A(x + y, q) = V(f(x + y), q) = V(f(y) + f(x), q) = V(f(x) + f(y), q) = V(f(y + x), q) = A(y + x, q)$. Therefore, $A(x + y, q) = A(y + x, q)$, for all x and y in R and q in Q . Again, $A(xy, q) = V(f(xy), q) = V(f(y)f(x), q) = V(f(x)f(y), q) = V(f(yx), q) = A(yx, q)$. Therefore, $A(xy, q) = A(yx, q)$, for all x and y in R and q in Q . Also, $A(x \vee y, q) = V(f(x \vee y), q) = V(f(y) \vee f(x), q) = V(f(x) \vee f(y), q) = V(f(y \vee x), q) = A(y \vee x, q)$. Therefore, $A(x \vee y, q) = A(y \vee x, q)$, for all x and y in R and q in Q . And, $A(x \wedge y, q) =$

$V(f(x \wedge y), q) = V(f(y) \wedge f(x), q) = V(f(x) \wedge f(y), q) = V(f(y \wedge x), q) = A(y \wedge x, q)$. Therefore, $A(x \wedge y, q) = A(y \wedge x, q)$, for all x and y in R and q in Q . Hence A is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R .

Theorem 3.9 Let A be an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R , then the pseudo (Q, L) -fuzzy coset $(aA)^p$ is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R , for a in R and q in Q .

Proof: Let A be an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R . For every x and y in R and q in Q , we have, $((aA)^p)(x + y) = p(a)A(x + y) \geq p(a)\{A(x) \wedge A(y)\} = \{p(a)A(x) \wedge p(a)A(y)\} = \{((aA)^p)(x) \wedge ((aA)^p)(y)\}$. Therefore, $((aA)^p)(x + y) = \{((aA)^p)(x) \wedge ((aA)^p)(y)\}$. Now, $((aA)^p)(xy) = p(a)A(xy) \geq p(a)\{A(x) \wedge A(y)\} = \{p(a)A(x) \wedge p(a)A(y)\} = \{((aA)^p)(x) \wedge ((aA)^p)(y)\}$. Therefore, $((aA)^p)(xy) = \{((aA)^p)(x) \wedge ((aA)^p)(y)\}$. Also, $((aA)^p)(x \vee y) = p(a)A(x \vee y) \geq p(a)\{A(x) \wedge A(y)\} = \{p(a)A(x) \wedge p(a)A(y)\} = \{((aA)^p)(x) \wedge ((aA)^p)(y)\}$. Therefore, $((aA)^p)(x \vee y) = \{((aA)^p)(x) \wedge ((aA)^p)(y)\}$. And, $((aA)^p)(x \wedge y) = p(a)A(x \wedge y) \geq p(a)\{A(x) \wedge A(y)\} = \{p(a)A(x) \wedge p(a)A(y)\} = \{((aA)^p)(x) \wedge ((aA)^p)(y)\}$. Therefore, $((aA)^p)(x \wedge y) = \{((aA)^p)(x) \wedge ((aA)^p)(y)\}$. Hence $(aA)^p$ is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R .

Theorem 3.10 Let A and B be (Q, L) -fuzzy subsets of the sets R and H respectively, and let α in L . Then $(A \times B)_\alpha = A_\alpha \times B_\alpha$.

Proof: Let α in L . Let (x, y) be in $(A \times B)_\alpha$ if and only if $A \times B((x, y), q) \geq \alpha$, if and only if $\{A(x, q) \wedge B(y, q)\} \geq \alpha$, if and only if $A(x, q) \geq \alpha$ and $B(y, q) \geq \alpha$, if and only if $x \in A_\alpha$ and $y \in B_\alpha$, if and only if $(x, y) \in A_\alpha \times B_\alpha$. Therefore, $(A \times B)_\alpha = A_\alpha \times B_\alpha$.

Theorem 3.11 Let A be a (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R . If $A(x, q) < A(y, q)$, for some x and y in R and q in Q , then $A(x + y, q) = A(x, q) = A(y + x, q)$, for some x and y in R and q in Q .

Proof: It is trivial.

Theorem 3.12 Let A be a (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R . If $A(x, q) > A(y, q)$, for some x and y in R and q in Q , then $A(x + y, q) = A(y, q) = A(y + x, q)$, for some x and y in R and q in Q .

Proof: It is trivial.

4. In the Following Theorem Is the Composition Operation of Functions

Theorem 4.1 Let A be an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring H and f is an Isomorphism from a ℓ -semiring R onto H . Then $A \circ f$ is an (Q, L) -fuzzy Normal ℓ -subsemiring of the ℓ -semiring R .

Proof: Let x and y in R and A be an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring H . Then clearly $A \circ f$ is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R . Now, $(A \circ f)(x + y, q) = A(f(x + y), q) = A(f(x) + f(y), q) = A(f(y) + f(x), q) = A(f(y + x), q) = (A \circ f)(y + x, q)$. Therefore, $(A \circ f)(x + y, q) = (A \circ f)(y + x, q)$, for all x and y in R and q in Q . And,

$(A \circ f)(xy, q) = A(f(xy), q) = A(f(x)f(y), q) =$
 $A(f(y)f(x), q) = A(f(yx), q) =$
 $(A \circ f)(yx, q)$. Therefore $(A \circ f)(xy, q) = (A \circ f)(yx, q)$, for
 all x and y in R and q in Q . Also, $(A \circ f)(x \vee y, q) = A(f(x \vee$
 $y), q) = A(f(x) \vee f(y), q) = A(f(y) \vee f(x), q) = A(f(y \vee$
 $x), q) = (A \circ f)(y \vee x, q)$. Therefore, $(A \circ f)(x \vee y, q) = (A \circ$
 $f)(y \vee x, q)$, for all x and y in R and q in Q . And, $(A \circ f)(x \wedge$
 $y, q) = A(f(x \wedge y), q) = A(f(x) \wedge f(y), q) = A(f(y) \wedge$
 $f(x), q) = A(f(y \wedge x), q) = (A \circ f)(y \wedge x, q)$. Therefore,
 $(A \circ f)(x \wedge y, q) = (A \circ f)(y \wedge x, q)$, for all x and y in R and
 q in Q . Hence $A \circ f$ is an (Q, L) -fuzzy normal ℓ -subsemiring
 of a ℓ -semiring R .

Theorem 4.2 Let A be an (Q, L) -fuzzy Normal ℓ -subsemiring of a ℓ -semiring H and f is an anti-isomorphism from a ℓ -semiring R onto H . Then $A \circ f$ is an (Q, L) -fuzzy Normal ℓ -subsemiring of the ℓ -semiring R .

Proof: Let x and y in R and A be an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring H . Then clearly $A \circ f$ is an (Q, L) -fuzzy ℓ -subsemiring of a ℓ -semiring R . Now, $(A \circ f)(x + y, q) = A(f(x + y), q) = A(f(y) + f(x), q) = A(f(x) + f(y), q) = A(f(y + x), q) = (A \circ f)(y + x, q)$. Therefore, $(A \circ f)(x + y, q) = (A \circ f)(y + x, q)$, for all x and y in R and q in Q . And, $(A \circ f)(xy, q) = A(f(xy), q) = A(f(y)f(x), q) = A(f(x)f(y), q) = A(f(yx), q) = (A \circ f)(yx, q)$. Therefore, $(A \circ f)(xy, q) = (A \circ f)(yx, q)$, for all x and y in R and q in Q . Also, $(A \circ f)(x \vee y, q) = A(f(x \vee y), q) = A(f(y) \vee f(x), q) = A(f(x) \vee f(y), q) = A(f(y \vee x), q) = (A \circ f)(y \vee x, q)$. Therefore, $(A \circ f)(x \vee y, q) = (A \circ f)(y \vee x, q)$, for all x and y in R and q in Q . $(A \circ f)(x \wedge y, q) = A(f(x \wedge y), q) = A(f(y) \wedge f(x), q) = A(f(x) \wedge f(y), q) = A(f(y \wedge x), q) = (A \circ f)(y \wedge x, q)$. Therefore, $(A \circ f)(x \wedge y, q) = (A \circ f)(y \wedge x, q)$, for all x and y in R and q in Q . Hence $A \circ f$ is an (Q, L) -fuzzy normal ℓ -subsemiring of a ℓ -semiring R .

5. Conclusion

In the study of the structure of a fuzzy algebraic system, we notice that Q -fuzzy with special properties always play an important role. In this paper, we define (Q, L) -fuzzy normal ℓ -subsemirings of a ℓ -semiring and investigate some important results. We hope that the research along this direction can be continued, and in fact, this work would serve as a foundation for further study of the theory of semiring, it will be important to complete more hypothetical exploration to set up an overall structure for the commonsense application.

Acknowledgements

The author is thankful to the referee for his valuable suggestions which improved the presentation of the paper.

References

- [1] Azriel Rosenfeld, Fuzzy Groups, Journal of mathematical analysis and applications, 35, 512-517 (1971).
- [2] Anthony. J. M. and Sherwood. H, Fuzzy groups Redefined, Journal of mathematical analysis and applications, 69, 124130 (1979).
- [3] Asok Kumer Ray, On product of fuzzy subgroups, fuzzy sets and sysrems, 105, 181-183 (1999).
- [4] A. Solairaju and R. Nagarajan, A New Structure and Construction of Q-Fuzzy Groups, Advances in fuzzy mathematics, Volume 4, Number 1 (2009), 23-29.
- [5] Biswas. R, Fuzzy subgroups and Anti-fuzzy subgroups, Fuzzy sets and systems, 35, 121-124 (1990).
- [6] Mustafa Akgul, Some properties of fuzzy groups, Journal of mathematical analysis and applications, 133, 93-100 (1988).
- [7] Mohamed Asaad, Groups and fuzzy subgroups, fuzzy sets and systems (1991), North-Holland.
- [8] Palaniappan. N & Arjunan. K, Operation on fuzzy and anti fuzzy ideals, Antartica J. Math., 4 (1) (2007), 59-64.
- [9] Palaniappan, N. and Muthuraj, R., The homomorphism, anti-homomorphism of fuzzy and an anti-fuzzy groups, Varahmihir Journal of Mathematical Sciences, Vol. 4, No. 2 (2004), 387-399.
- [10] Prabir Bhattacharya, Fuzzy Subgroups: Some Characterizations, Journal of Mathematical Analysis and Applications, 128, 241-252 (1987).
- [11] Rajesh Kumar, Fuzzy Algebra, Volume 1, University of Delhi Publication Division, July-1993.
- [12] Salah Abou-Zaid, On generalized characteristic fuzzy subgroups of a finite group, fuzzy sets and systems, 235-241 (1991).
- [13] Sivaramakrishnadas. P, Fuzzy groups and level subgroups, Journal of Mathematical Analysis and Applications, 84, 264-269 (1981).
- [14] Saravanan. V and Sivakumar. D., A Study on Anti-Fuzzy Subsemiring of a Semiring, International Journal of Computer Applications (0975-8887), Volume 35-No.5, December 2011.
- [15] Saravanan. V and Sivakumar. D, A Study on Anti-Fuzzy Normal Subsemiring of a Semiring, International Mathematical Forum, Vol. 7, 2012, no. 53, 2623-2631.
- [16] Tang J, Zhang X (2001). Product Operations in the Category of L-fuzzy groups. J. Fuzzy Math., 9: 1-10.
- [17] Vasantha Kandasamy. W. B, Smarandache fuzzy algebra, American research press, Rehoboth-2003.
- [18] Zadeh. L. A., Fuzzysets, Information and control, Vol. 8, 338-353 (1965).